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Estimating Quotients

- Estimate each quotient. Write the numbers you used.

w@}% 273 + 3=270+3 Vg%'+4=30~‘.—ﬁ_ 3.291 + 7
| Qo0 @0)
~—/ N

4. 59 ~ 6 55122« 3 6. 439 - 5

7. 328 + 4 . 8.2,350 + 8 9. 7,000 - 9

10. Math Reasoning A store has a total of 231 golf balls.
There are 3 golf balls in a package. About how many
packages of golf balls are there?

11. Angelina has 125 peonies in her flower shop. About how many bouquets
of 6 peonies can she make?

Test Prep Circle the correct letter for each answer.
~ 12. Which expression would give the best estimate for 46 + 57
A 50=+5 B 45+5 € 35=3 - D 30+5
13. Which expression would give the best estimate for 87 + 97
F 54 +9 G 63 +9 H 81 +9 J 90+9
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WOVl Problemn Rydctice 2 sides! .,
Cuetursdey)  FEaaro

g
%md ‘ @ A box of cereal costs $6. That is 3 times as much as a container of milk costs. How
‘ much does a container of milk cost?

Pan: (e an equation) —————
Slve:
check

Read/ ’ @ A newspaper costs $2. A book costs 9 times as much as a newspaper. How much does
the book cost? -

Plan: Write an equation ———
Qe
Chack:

Read ° Denzel's cat weighs 9 pounds. Maria’s dog weighs 45 pounds. How many times
o’ heavier is Maria’s dog than Denzel’s cat?

’Plan:'Wﬁ)’t{ on eq)lw:”()ﬂ[ > M—-——-—-f—"“""

Solve ;
Checks
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Name
Division With Remainders
* Due Thursday ' *

Solve. -

1-

Mr. Alvarez has 52 DVDs. If he divides
them evenly into 5 cases, how many
DVDs will be in each case? Will there
be any left over? If so, how many?

A video store employee is packing
videos. The 65 videos were evenly
divided into 8 boxes. How many videos
did the employee put into each box?
Were there any left over? If so, how

many?

Marcie has 46 videos to display evenly
on 6 shelves. If any videos are left over,
she will place them on the front
counter. How many videos will she
place on the front counter?

Jason has 17 movie posters. He gave
each of his 5 friends the same number
of posters. He kept the remaining
posters for himself. How many posters
did he keep for himself?

The video store has 75 balloons to
hang around the store. If the balloons
are separated into bunches of 6
balloons each, how many bunches will
there be? How many balloons will be

left over?

Date

Show your work.
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Due Friday.
® . A_Complety Cicled problms onb%««’ @

Dividing Multidigit Numbers
(1) 61832 @ 999 + 5 (3) 3846 + 7 a. 4)57.712

@ 4,566 + 4 6. 8)22,619 7.47016 -9  8.3)89,698

Rule: Divide by 4. Rule: Divide by 7. Rule: Divide by 3.

Input | Output Input | Output Input Output‘

9. 96 12. 84 15 39
268 (3) | 616 (16) | 2,784
o

2,092 3,157 17. |13,569 |

@ Suppose you have 136 bagels. You want to put 6 bagels in each bag.
Will you have more or fewer than 20 bags with exactly 6 bagels? Explain.

Algebra Solve: 3n = 426*(1}?3‘{2 ' 20. Algebra Solve: 5x = 22,120
IVide

420 :3

Test Prep Circle the correct letter for each answer.
@ In the problem 982 + 5, which number cannot be the remainder?
A 3 B 4 C:5 D6

The 5 families in the neighborhood bought new playground equipment
for $4,625. How much did each family pay for the equipment?

F $225 G $500 H $925 J $1,200
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Missing Numbers in Equations D¢ g

P

&:6=6

25+r=35 tx9=54
l
s = P
b+5=6 Oy+6=12
s | D,
ex9=36 +=-8=2
C=___ @ =
f+1=6 . I‘-:-S=2
@‘F-—__ @ r':_______
P+9=13 ]5;q=3
P: | qj":-———-—
D)‘(2=4 25%&:5
@ 0-_____ @, B
Ax4=24 2+(=5
b)
e e @DS
13-T=4 A+7=8
D= o |8 pe_so
!

Ay
=]

¢! Solve

=
Direchions: >
[ €ach eganchon . Ty
Hirst Awo have been
done for you-

()

d-4=4

od=_

a—2=1

| R

@f+2=9

X+2=3
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